GMAT Geometry Practice Paper 4

Question 1

Mote; Figure MOT drawn to scale,

Refer to the above diagram. What is the measure of <1 7
Statement 1: m./3 + moS6 — 1327

(s}

Statement 2: me/1 4+ ms4 — 140

Possible Answers:

EITHER statement ALOME is sufficient to answer the question.

Statement 2 ALOME is sufficient to answer the question, but Statement 1 ALOME is MOT sufficient to answer the question.

Statement 1 ALOME is sufficient to answer the question, but Statement 2 ALOME is MOT sufficient to answer the question.

BOTH statements TOGETHER are sufficient to answer the question, but MEITHER statement ALOME is sufficient to answer the question.

BOTH statements TOGETHER are insufficient to answer the question.

Question 2



Mote: Figure MOT dravwn to scabs.

Rafar to the sbove Aeure. Evaiuzts m1 + mo 2
Sestammnt 1: 4 and /5 sre complementary.

Sextemant 2 00 - /2 = OF

Passible Answers

EITHER statement ALONE is sufficent to anseer the guestion.

BOTH statemenis TOGETHER are msufficient to arsweer the question.

BOTH statemenis TOWGETHER are suffici=nt to answer the guestion, but MEITHER statemant ALOME & sufficient to answer the guestion
Statermnent 2 ALONE is sufficient to anseer the question, but Statement 1 ALOME is MOT sufficient 1o snseser the guestion.

Statermnent 1 ALOME is sufficient to anseer the question, but Statement 2 ALOME is MOT sufficient to snseser the guestion.

Question 3



Mote: Figure MOT drawn toscale.

Refer to the above diagram. What is the measure of 1 7
Statement 1: /6 isa 547 angle.

Statement 2: /2 = £33

Possible Answers:

Statement 2 ALOME is sufficient to answer the question, but Statement 1 ALOME is MOT sufficient to answer the question.

BOTH statements TOGETHER are insufficient to answer the question.

Statement 1 ALOME is sufficient to answer the question, but Statement 2 ALOME is MOT sufficient to answer the question.

BOTH statements TOGETHER are sufficient to answer the question, but MEITHER statement ALOME is sufficient to answer the question.

EITHER statement ALOME is sufficient to answer the question.

Question 4



Mode: You may sssume that § and w are not parallel Bnes, but you may rotassume that [ and m sre paralled lines unbass it is spacificalby
stated.

Refar to the above diagram. Is the sum of the measures of & A DN and I less than, =gusl to, or grester than 1807

Statement 1: Thers mosts a point & suchthat A Geson £ 00 and B lesan 0.

Statement 2 Ouadriateral ABC D is not 3 trepezoid.

Passible Answers

Staterment 2 ALOME is sufficient fo snswer the question, but Statement 1 ALONE is NOT sufficient 2o srswesr the qusstion.

BOTH statements TOGETHER are msufficient to arswoer the gquestion.

EITHER statement ALOME is sufficent to anseser the guestion.

BOTH statements TOGETHER are sufficient to answer the guestion, but MEITHER statemsnt ALOME i suffici=nt to answer the puestion

Statement 1 ALOME is sufficient to snswer the question, but Statement 2 ALDMNE is MOT sufficiant 2o snswer the queastion.

Question 5



Mete: Fipure MOT dravwn to scabs,

Refer to the sbove Aigure. Evaluzte mo"%.
Statament 1: B = BT

Statement 2 mS5 = 427

Passible Answers:

BCOTH statemenis TOGETHER sre sufficisnt to answer the guestion, but MEITHER statement ALOMNE i suffici=nt to answer the guestion
Statement 1 ALONE is sufficient to snswer the question, but Statemeant 2 ALOME is NOT sufficiant o snswer the question,

EITHER stabement ALONE is sufficient to answeer the guestion

Statement 2 ALOME is sufficient to snswer the question, but Statement 1 ALDME is MOT sufficient 1o snseser the question.

BOTH statemenss TOGETHER sre insufficient to sreveer the question.

Question 6



@

Mote: Fipure NOT dravwn to scabe.

Refer to the above diagram. What is the measure of /17

Statement 1: A0 is an equilateral triangle.

Statement 2 mS 3 = 657

Passible Answers:

EITHER statement ALOME is sufficient to answer the guestion.

Statement 2 ALOKE is sufficient to snswer the question, but Statement 1 ALOKE is MOT suffici ent 1o snseser the question.

BOTH statemenis TOGETHER sre msufficient to ansveer the question.

BOTH statemenss TOGETHER sre sufficisnt ta snswer the guastion, but MEITHER statement ALOMNE i sufficient to answer the pusstion

Statement 1 ALOME is sufficient to snewer the question, but Statement 2 ALONE is MOT sufficisnt 1o snsessr the question.

Question 7



Mote: Fipure MOT drawn to sczle.

Refer to the above figure. Evaluate m1 + m2.
Statement 1: msF + mAd + mss = 1317
Stztemeant® ms 6+ ms T 4 mAE = 1m”

Paszible Answers:

Staterment 2 ALONE is sufficient to snseer the question, but Statement 1 ALOME is MOT sufficient o snseser the guestion.
EITHER statement ALOME is sufficient ta answer the quastion.

BCOTH statemenis TOGETHER sre msufficient to sreveer the question.

Statermnent 1 ALONE is sufficient to snswer the question, but Statemend 2 AL0ME is MOT sufficiant o snsessr the qusstion.

BOTH statemenis TOGETHER are sufficient to anseer the guestion, but MEITHER statement ALDME 5 suffici=nt to answer the puestion

Question 8



Mote=: Figure MOT drawn ta sczbs.

Rafar ta the above Apure. Give the mezsursof 21
Ststammnt 1: ms2 + mA3 = 9]'?

Statement 2 m5 4 oms 6 = g"

Passible Answers:

Staterment 2 ALOME is sufficient fo snsser the question, but Statement 1ALONE is NOT sufficient S0 sneeeer the question.
EITHER stat=ment ALOME is sufficient to answer the guestion.

BOTH statemenis TOGETHER sre insufficient to ansvier the question.

Statement 1 ALOME is sufficient to answer the question, but Statement 2 ALONE is NOT sufficient 2o snewer the question.

BCOTH statements TOGETHER are sufficient to answer the guestion, but MEITHER statement ALOME 5 suffic=nt to answer the guestion.

Question 9



Mot=: Fipure MOT draven to scale,

Refer to the above diagram. Evaluzte m1 + ms 2.
Statement 1 m/2 + ms3 = 123°

Statement 2 m % + omsd = 1267

Passible Answers:

Statement 2 AUOME iz sufficient to snswer the question, but Statement 1 AUONE is MOT sufficiant ©o snseser the question.
EITHER statement ALOME is sufficient to answer the guestion.

BCOTH statementss TOGETHER are insufficient to ansver the question.

Statement 1 ALOME is sufficient to snswer the question, but Statement 2 ALDME is MOT sufficient 1o snseser the question.

BOTH statemenss TOGETHER sre sufficisnt ta snswer the guastion, but MEITHER statement ALOMNE i sufficient to answer the pusstion

Question 10



@

Mote: Fipure MOT drawn to scabe.

Refer to the abawve diagram. Evaluate m3 + ms4.
Stztement 1 ms 1 + msS = 1207

Statement 2: .-“-.U'PQ i5 an equilateral triangle.

Paszible Answers:

BCOTH statemenis TOGETHER are insufficient to arsveer the quastion.

Statement 1 ALOKE is sufficient to snswer the question, but Statement 2 ALOME is MOT suffici ent 1o snseser the question.

Statement 2 ALOME is sufficient to snswer the question, but Statement 1 ALDME is MOT sufficient 1o snseser the question.

BOTH statemenss TOGETHER sre sufficisnt ta snswer the guastion, but MEITHER statement ALOMNE i sufficient to answer the pusstion

EITHER statement 4L ONE is sufficent to anseser the guestion

Question 11



Refer to the above figure. Jane chose one of the line sezments shown in the sbowe diagram but she will not reves! which one Which ocne
did she choosa?

Stat=ment 1: One of the endpoints of the line sezmentis /.

Seztmment 2 The line capmant includas

Paszible Snswers

Statement 1 ALOMNE is sufficient to snseer the question, but Statement 2 AL0OME is MOT sufficient to snseser the guestion.

BOTH statemenss TOGETHER sre msufficient to arswer the question.

EITHER statement ALONE is sufficent to ansessr the guestion

BOTH statements TOGETHER are sufficient to anseeer the guestion, but MEITHER statement ALOMNE & sufficient to ansver the puestion

Statement 2 ALOMNE is sufficient to snswer the question, but Statement 1 AL0ME is MOT sufficiant o anseer the question.

Question 12

How many times does f(z) and g( f) intersect?
1) g{ f) is a linear equation with a slope of 5.

) f(z) is quadratic equation with a vertex at | 76, 70).
Paossible Answers:

Either statement iz sufficient to answer the guestion.

Meither statement is sufficient to answer the question. More information is needed.

Statement II is sufficient to answer the question, but statement I is not sufficient to answer the question.
Both statements are needed to answer the guestion.

Statement I is sufficient to answer the question, but statement II is not sufficient to answer the question.

Question 13



Find the 4 angles created by the two intersecting lines.

Statementl:y — Dandz — 0

1
Statement 2: y — 2z + 10 and ¥ E:: + 4

Possible Answers:

Statement 1) ALONE is sufficient, but Statement 2) ALONE is not sufficient to answer the question.
Statement 2) ALONE is sufficient, but Statement 1) ALONE is not sufficient to answer the question.
BOTH statements taken TOGETHER are sufficient to answer the question, bt neither statement ALONE is sufficient.

EACH statement ALONE is sufficient

BOTH statements TOGETHER are NOT sufficient. and additional data is needed to answer the question.

Question 14

Determine the value of the four angles created by the intersecting lines.
Statement 1: Two angles are acute, and two angles are obtuse.
Statement Z: Any two non-perpendicular intersecting lines with known equations.

Possible Answers:

BOTH statements TOGETHER are NOT sufficient. and additional data is necded to answer the gquestion.
Statement 1) ALONE is sufficient, but Statement 2) ALONE is not sufficient to answer the question.
BOTH statements taken TOGETHER are sufficient to answer the question, hut neither statement ALONE is sufficient.

EACH statement ALONE is sufficient

Statement 2) ALONE is sufficient, but Statement 1) ALONE is not sufficient to answer the question.

Question 15



What is the value of x?
(y=25

{2) Lines p and q are parallel

Possible Answers:

EACH statement ALOME is sufficient to answer the guestion asked.
Statements (1) and (2) TOGETHER are MOT sufficient to answer the question asked, and additional data specific to the problem are needed.

BOTH statements (1) and {Z) TOGETHER are sufficient to answer the question asked, but MEITHER statement ALONE is sufficient to
answer the question asked.

Statement (Z) ALOME is sufficient, but statement (1) alone is not sufficient to answer the question asked.

Statement (1) ALOME is sufficient, but statement (2) alone is not sufficient to answer the question asked.

Question 16

What is the value of x?
{1)£=z = 30

{2)£y = 150
Possible Answers:

BOTH statements (1) and (2) TOGETHER are sufficient to answer the question asked, but MEITHER statement ALONE is sufficient to
answer the question asked.

Statements (1) and (2) TOGETHER are MOT sufficient to answer the question asked, and additional data specific to the problem are needed.

Statement {Z) ALOME is sufficient, but statement (1) alone is not sufficient to answer the question asked.

EACH statement ALOME is sufficient to answer the question asked.

Statement (1) ALOME is sufficient, but statement (2] alone is not sufficient to answer the question asked.



Question 17

What is the value of x?

{1)£z =30
(2)£€y = 150
Possible Answers:

BOTH statements (1) and {2) TOGETHER are sufficient to answer the question asked, but MEITHER statement ALOME is sufficient to
answer the question asked.

Statements (1) and (2) TOGETHER are MOT sufficient to answer the question asked, and additionzl data specific to the problem are needed.
Statement (2) ALOME is sufficient, but statement (1) alone is not sufficient to answer the question asked.
EACH statement ALOME is sufficient to answer the guestion asked.

Statement (1) ALOME is sufficient, but statement (2) alone is not sufficient to answer the question asked.

Question 18



Lines pand q are parallel. What's the value of x7
1)y + z— 180

(2)y — 110
Possible Answers:

BOTH statements (1) and {2) TOGETHER are sufficient to answer the question asked, but MEITHER statement ALOME is sufficient to
answer the question asked.

Statements (1) and (2) TOGETHER are MOT sufficient to answer the question asked, and additional data specific to the problem are nesded.

EACH statement ALOME is sufficient to answer the guestion asked.

Statement (1) ALOME is sufficient, but statement (2} alone is not sufficient to answer the question asked.

Statement (2) ALOMNE is sufficient, but statement (1) alone is not sufficient to answer the question asked.

Question 19



Mete: Fipure MOT dravwn to scabs,

Rafar to the above diagram. Evalusts w_
Statement 1 x = v

Statement 2: y = ir

Passible Answers:

BOTH statements TOGETHER sre sufficisnt ta answer the guestion, but MEITHER statement ALOMNE & sufficient to answer the gusstion
EITHER statement ALOME is sufficient to answer the question.

Statement 2 ALOME is sufficient to snwer the question, but Statement 1 ALONE is MOT sufficient 1o snseser the question.

BCOTH statemenis TOGETHER are msufficient to ansveer the question.

Statement 1 ALUDOME iz sufficient to snswer the question, but Statement 2 ALONE is MOT sufficiant 5o snseser the question.

Question 20



Mot Fipure NOT dravwn to scabs,

Refmr to the above diagram. Evaluats w_
Statement L x + y = 150

Statement 2w 4 v = 130

Passible &nswers:

Staterment 2 ALOKNE is sufficient $o snswer the quastion, but Statement 1 ALOME is NOT sufficiant to snseser the qusstion.

BOTH statements TOGETHER are msufficient to 2 rewver the gquestion.

Staternent 1 ALONE is sufficient fo snswer the question, but Statement 2 ALONE is NOT sufficient to snsser the question.

EITHER statement ALOME is sufficent ta anseser the guestion.

BOTH statements TOGETHER are sufficient ta answer the guestion, but NEITHER statemsnt ALONE & suffici=nt to answer the guestion



